LOT	QTY	DESCRIPTION
1		D05654 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.6 METRE = 115 L/M
2		D05665 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 24 LENGTHS @ 3.6 METRE = 86 L/M
3		D06068 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 3.0 METRE = 96 L/M
4		D06071 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 16 LENGTHS @ 3.0 METRE = 48 L/M
5		D05856 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 2.4 METRE = 77 L/M
6		D5617A PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 5 LENGTHS @ 4.2 METRE = 21 L/M
7		D5547 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 7 LENGTHS @ 4.2 METRE = 29 L/M
8		D5609 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 20 LENGTHS @ 4.2 METRE = 84 L/M
9		D5608A PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 8 LENGTHS @ 4.2 METRE = 34 L/M
10		D05729 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 14 LENGTHS @ 4.2 METRE = 59 L/M
11		D06015 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 11 LENGTHS @ 4.8 METRE = 53 L/M
12		D05779 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 12 LENGTHS @ 4.8 METRE = 58 L/M
13		D05725 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 20 LENGTHS @ 4.2 METRE = 84 L/M
14		D5615 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 20 LENGTHS @ 4.8 METRE = 96 L/M

LOT	QTY	DESCRIPTION
15		D5581 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 20 LENGTHS @ 4.8 METRE = 96 L/M
16		D5580A PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 6 LENGTHS @ 5.4 METRE = 32 L/M
17		D5611A PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 20 LENGTHS @ 5.4 METRE = 108 L/M
18		6223541 PACK OF TREATED PINE POSTS MERCH GRADE 90 x 90mm 8 LENGTHS @ 2.4 METRE = 19 L/M
19		D06109 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 2.4 METRE = 77 L/M
20		D06107 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 29 LENGTHS @ 2.4 METRE = 70 L/M
21		D06006 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 13 LENGTHS @ 2.4 METRE = 31 L/M
22		D05989 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 14 LENGTHS @ 2.4 METRE = 34 L/M
23		D05784 PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 14 LENGTHS @ 2.4 METRE = 34 L/M
24		D05641A PACK OF CCA TREATED PINE POSTS MERCH GRADE 90 x 90mm 32 LENGTHS @ 2.4 METRE = 77 L/M
25		6219752 PACK OF LOSP TREATED PINE TIMBER MERCH GRADE 90 x 22mm 120 LENGTHS @ 3.6 = 432 L/M
26		6219750 PACK OF LOSP TREATED PINE TIMBER MERCH GRADE 90 x 22mm 120 LENGTHS @ 3.6 = 432 L/M
27		*** VACANT ***
28		X3345 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 24 LENGTHS @ 2.4 = 58 L/M

LOT	QTY	DESCRIPTION
29		6226171 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 36 LENGTHS, 1/3.0,21/3.6,14/4.2 = 138 L/M
30		6233076 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 6/3.0,37/3.6,53/4.2 = 374 L/M
31		6233124 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 72 LENGTHS, 3/2.4,6/3.0,13/3.6,50/4.2 = 275 L/M
32		6224320 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 35mm 70 LENGTHS, $14/4.8,6/5.4,50/6.0 = 400$ L/M
33		WD0641 PACK OF TREATED PINE TIMBER MERCH GRADE 190 x 35mm 36 LENGTHS, 2/3.6,13/4.2,11/4.8,9/5.4,1/6.0 = 169 L/M
34		6226304 PACK OF TREATED PINE TIMBER MERCH GRADE 190 x 35mm 32 LENGTHS, 1/3.6,7/4.8,4/5.4,20/6.0 = 179 L/M
35		6224315 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 35mm 70 LENGTHS, 2/4.8,3/5.4,65/6.0 = 416 L/M
36		6224325 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 35mm 70 LENGTHS,13/4.8,3/5.4,54/6.0 = 403 L/M
37		6226248 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35mm 140 LENGTHS, 57/4.8,15/5.4,68/6.0 = 763 L/M
38		6226234 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35mm 140 LENGTHS, ½.7,1/3.0,23/4.8,12/5.4,103/6.0 = 799 L/M
39		6222280 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35mm 140 LENGTHS, 31/4.8,7/5.4,102/6.0 = 799 L/M
40		6222270 PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 35mm 140 LENGTHS, 43/4.8,4/5.4,93/6.0 = 786 L/M
41		X3337 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 45mm 28 LENGTHS @ 3.0 = 84 L/M
42		X3317 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 45mm 8 LENGTHS @ 3.0 = 24 L/M

LOT	QTY	DESCRIPTION
43		WD0672 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 45mm 34 LENGTHS @ $3.0 = 102 \text{ L/M}$
44		6232159 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 45mm 25 LENGTHS,8/3.6,17/4.2 = 100 L/M
45		6224579 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 35mm 84 LENGTHS @ 4.8 = 403 L/M
46		6224542 PACK OF TREATED PINE TIMBER MERCH GRADE 120 x 35mm 84 LENGTHS, 23/4.8,9/5.4,52/6.0 = 471 L/M
47		6225804 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 72 LENGTHS @ 4.8 = 346 L/M
48		6233564 PACK OF TREATED PINE TIMBER MERCH GRADE 140 x 45mm 20 LENGTHS, 1/3.0,6/5.4,13/6.0 = 113 L/M
49		6225818 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 72 LENGTHS,1/3.0,3/4.2,68/4.8 = 342 L/M
50		X1697 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 16 @ 3.0 = 48 L/M
51		622100 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 48 LENGTHS @ 3.6 = 173 L/M
52		6218767 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 72 LENGTHS,1/2.4,5/3.0/33/3.6/33/4.2 = 272 L/M
53		6217653 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 18 LENGTHS @ 4.8 = 86 L/M
54		6216722 PACK OF CCA TREATED PINE TIMBER MERCH GRADE 120 x 45mm 30 LENGTHS, 2/4.8,1/5.4,27/6.0 = 177 L/M
55		X2792 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 12 LENGTHS, 2/3.0,2/4.2,1/4.8,7/5.4 = 57 L/M
56		71269A PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 44 LENGTHS @ 4.8 = 211 L/M

LOT	QTY	DESCRIPTION
57		6233083 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 18/4.8,21/5.4,57/6.0 = 542 L/M
58		6233121 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 86 LENGTHS, 62/4.8,6/5.4,18/6.0 = 438 L/M
59		6222425 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 11/4.8,2/5.4,83/6.0 = 562 L/M
60		6225841A PACK OF TREATED PINE TIMBER MERCH GRADE 70 x 45mm 120 LENGTHS, 13/4.8,6/5.4,101/6.0 = 701 L/M
61		6222441 PACK OF TREATED PINE TIMBER MERCH GRADE 90 x 45mm 96 LENGTHS, 11/4.8,8/5.4,77/6.0 = 558 L/M
62		6222177 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ $4.8 = 576 \text{ L/M}$
63		6222187 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ $4.8 = 576$ L/M
64		6232982 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 119 LENGTHS @ $4.8 = 571$ L/M
65		6232967 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ $4.8 = 576$ L/M
66		6226502 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ $4.8 = 576$ L/M
67		D06209 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 68 LENGTHS @ 5.4 = 367 L/M
68		D06210 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 92 LENGTHS @ 5.4 = 497 L/M
69		D06211 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 65 LENGTHS @ 6.0 = 390 L/M
70		D06212 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 48 LENGTHS @ 6.0 = 288 L/M

LOT	QTY	DESCRIPTION	NOTE
71		6225578 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 60 LENGTHS @ 3.6 = 360 L/M	
72		D06213 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 120 LENGTHS @ $6.0 = 720 \text{ L/M}$	
73		6233026 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 72 LENGTHS @ $4.2 = 302 \text{ L/M}$	
74		6233021 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 64 LENGTHS @ 5.4 = 346 L/M	
75		6233024 PACK OF CCA TREATED PINE SCREENING MERCH GRADE 90 x 22mm 104 LENGTHS @ 6.0 = 624 L/M	